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llead the fnllnwing instruclions carefully before ynu begin to answer the questions. This Booklet cuntains questions in English as wgll as in Hindi.
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INSTRUCTIONS TO CA}JDIDATES
'1,. fhis Booklet contains 200 questions in all ccrr.prising the follor.nrinq

four parts :

Fart - A: Generallntelligence&Reasoning
Pari - B : GeneralAt',arencss
Part * C: Quantitative.{ptit,rile
Part - D : EnglishCorrLprehension

2. kr questions set bilinguallv in English artl Hintii. in case o{ Ciscrepanc\',
the English version t ill prevail.

3. A1l questions are compulsorv and carn equal marks.
4. Tl'c papet cnrrics ircgntite morkbtg. A.25 ntLtis trill i.e dtdticted- Jbr ertclt

uroflg Llrlsu)er.

Before you start to answer the quesr'ions vou must check up this
Booklet and ensr:re that it contains all the pages (1-32) and see that no
page is missing or repeated. If you finci anv defect in this Bcoklet,
you nrust get it replacedimmeiliately.
You will be supplied the Answer-Sheet separateil b-r-the Invigilator.
You must compiete and ccde the details of tr'ame, RollNuntbcr,Ticket
Number andTest I orm N umber on Sicte-I of iLe.lrsu'er-Sheet carefully.
You must also putycur signature and Left-Hand thu:ub impression on
the Answer-Sheet at the prqscribed place before r ou actually start
answering the questions. These instructions must be fuliy complied
with, failing r.r,hich, your Answer-Sheet n.rll trot ire er-aluated and vou
will be awarded'ZERO'mark. (V.H. candidates n'ill have to ensure
that these details are filled in by the scribe. Horvever, all V.H. candidates
must put their Ieft-hand thumb i_mpression at the soace provided in
the Answer-Sheet. Those V.H. candidates r,r'ho can sign should also
put their signatures in addition to thumb impression)
Answers must he shown by completely blackerj;-,g ihe corresponding
ovals on Sitle-II of the Answer-Sheet againsi :i..e reier.ant question
nurnber by Black,/ Blue Ba-ll-Point Pen Onlr-. .l--,srr-ers rv hich are not
shcwn try Black/Blue Ball-Point Pen will noi i.e ar, arded anr. mark.
A machine will read the coded inforrnatior.. in th; O\{R
Answer-Sheet In case the information is incor:rrre or di{ferent from
the in{ormation given in the application fom.,, s:lch candidate I,t i1l be
awarcled 'ZERO'mark.
fhe Answer-Sheet must be handed over to the lnr-ipiator before you
leave the Examination Flal[.
Failure to comply with any of the above Instructions will render a
candidate iiable to such action/penalty as nav be deemed fit
The mamer in which the different questrons re :o be answered has
been explained at the back of th.is Booklet (Page \o. 32), which you
should read carefully before actually ansrverirg the qr:g5lis-5.
Answer the questions as quickly an<i as caretulit as vou can. Some
questions may be difficult and others easr'. Do not spend too much
time on any question.

ll. Ln lieu of Question Ncs. 39 to 50 and '144 to 150, relating to figural
portions, alternate questions have been prolirlerl to be attempted by
V.H. Canrlidates only.

- .. No rough work is to be done on the Answer-Sheel Space for rough
work has been provided below the questions.

i -; "Mobile phafies 6tlil: rpiyalsgs; soT4milrric at iofi dets i ce s ar e
corfipletelV banned in the examination hallsf rooms,
Catdiilates are adztised not io keep mobile phonesinny other
.sirelcss contmunication ileoices zpith them epefi swit;hing it
tff, in their ou)n interest. Faililg to complg rDith tltis
otooisiott will be considered as using unfaii means in the
:tamination and action zuill be takenZgaist tn * i"riral"g
: anullation of theit eatldiilature,,,

1,.
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11.
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1. Eq' gfuEh-r q 
$-d 200 eei t f"T{q- fuqfufu( qR e{Trr nrfuo t :

cliq-q' : qrqqgErrdTSqtr-ffifi
\Fi-E : q'lql.qqF-+Ifr
sTT{'i. I . qftqTrTk]IselTqTfi

(50 s-fi)
(50 s-fi)
(50 s€{)qFr-q: 3rfficfrdT-{ (50sF)

2. 3ii-."fr 3i{ tr+ qrqr t t-qR fu\.rq Eqrq} sF) q" sti iqrtrd di si fta{fr
fr erffift'-flnrrrqEtrl

3. qefr w{ erffi tnqrvq'*qrier Bt-6t r

4. ypq q7 I 1sF.m$ qw ttqr t 6T ra,?ffi{ #frC 0.25 eTq fla Gflqn t
s. sdi* sd, titre& ermrygk"T*tqfa tr{efu dffi Es}B

E'B (1-32) t aelr et5 ge e'a qr €-{Rr d T€f err ?Tqr t t qfq srTq gs
Efie-*.rtEd-$EFcqlt, * aa.rafg+ceeer-frqfu.-nr* d I

o. ft"fie,{s ET{T em+l Tfl qFr-qir er-e?T t qi vqT} 1 -sfl-qfr-fi * siae-I 
.rJ

fiqqe-di + sr-$TR qTrT-*6,3TqqT ?rq, rler urqcB*-r?E{Gdr*g
mff ptsreEqq fuu r srii * Efl qrm-q i gs e-G t qe.d wr-qk-*r w
ficrikd tlnr d errc elci E{f,rqr Cs ET{Erq * errt} qT tdsrn rfi qE-{q

e:ir(1 sq{m erEim ai Xtr rro oT$rsq t+qr qrq, sreTqT errrsl
Efi-cfr+r Ei Efqt l_.* qrq,Tr ,*{ 'yl3' ei6 ftqT.TqrT | ( ffird
sd-{dnEf{fdd qt Fo qafa-eruT ftrfu-m ar, q{T qrq I qq r+rfr

ffi rdBrfr -fi TTEf, ::-qFrq"rSlft rtfiarpr"rqq{s{q+qr(ErE*.oq}
6T F{firt eraw raqr( | q} drffim strfrflr EFilrFr 6-rr{-s.il U +
.sqF + f{snq + udrar erq} Eilgaq q1 a.{t r )

7. Tn{ ckfi i qfi sfl side-rr i yrr €BrT +'qF{i f<n r.+ R-qfud
sro-srq-.R E-r+i Ei +-d-d an+T{d qftfi-life +r t X$ rra +r-er qlt
t4ed I dr 3rrersT{ €ri qrd/rR E(--!fqz !-{ n =rd tl\ vifi , il& fus
+t= 3rfr=;ri<zlqq',TIr

s. :it.qr.:m. sf,T-qt{sl i ,r0 d W qq-rT +1 q* qrfl-q q}fi r at< qe.n
eqri l ro* er+fi y.H i Ei Ti Wlr t firF t fr tt sllq{l qT, vrq,
ei+ftq1qgrn I

9. qfreil q+q # t c6A rfrslirfi e1rt.r.-qfr+r fr'0sffi- +-wr.d qr tfi
qftqr

10. s'c{ 6, Br{tgil n t ffi qfr ET * qr€FT T q-ri w
t*+*rEumcffi *1 sr €d;-& t qr qu-s kqr qt F*aT t I

1 1. fqfE-{ srir A gtr ti q1 tqfrr F€' gfl<rsl + \tS I ge vwr 32 ) i si gs
t{&ii c t <i rr{ t, si em sEil t'Ed{ q+ * !-re rqnT:ffi ca d I

f z. yl-ir S ear ffir q-,.<i Ei s'* trqT sqlrT*-s ( I EB s{trT srrtr{ de]T gB
qfa-c t r ffi g+ y-lc c{ e-ge erflur+ ww r e.rTt{t

13. G'rfft t qq.Fqn ssr €sr 39 t s0 qq r++ Q fio * q(A q *=e-m

Efiwrfrrfrsrfl-qEtn ERTt-e l+CETi efd\ffieq-+sw t(q.rSt r

1 4. Et$ w q.rd Efl {-qflTq,r q{ TS mm t r rga ql d & fdq en{ cFff *'
{tFqqr,rmtr

ts'.'' Wtqr #7 a,rd'{.tqi t1:Et{'awd,VAr rnra g6' Eq5

,eea.& x ai.6r,etit.i€il,f,pqFet qmttA
niarpao#t'7,&rf '6fr er*a!.{.&n,Er.q"a*:erat@lrffi *A

er.r+ u?r 
".dt 

:Fg'rfleEtl;r ar er 'i,@,**,C&f
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Distribution

Diversion

(A) 6 (B) 24

(A) Baihelor

(C) Spinsier

(B) Dispersion

(D) Dilution

(q 64

(B) \{idow.

p) Wife

(c) 132

[D) 120

p) 121

Directions : In question nos. 1 to 6, select the related word/
letters/number from the given alternatives.

GENERAL

FART. A
TNTELLIGENCE &

(4

(g1. 11:tr32:: ? _.

qA) 10:100

(C) 13 : 169

, (ts) 9 :90

(D) 15 :250

l11/r-- /981 13

l(g 
120

1
/A)

I (rq

.1

(B) n5

1

@) v.7-

(A) 88

(A) I

(B) e7

(B) E

3. AB:ZY: ; CD: ?

iA) wx G) w (g xw (D) w

4. Sheep : mutton: : Deer : ?

(A) rneat G) flesh

(C) .,gi1isnt., (D) veal

5. Cobbler: Leather: : Tailor : ?

(A) Cloth G) Shirt

(Q Draper (D) Thread

6. I,'LOWER: iiE!VOLF:FRUITS': ?

(A) sllJTRF (B) STTLRF

(q STUTFR (D) sTRr,TF

Directions : kr question nos. 7 to 12, flndthe odd number/
letters/number pair from the given alternatives.

7" (A) TPDC
r. I

(q OLT,F

(B) BKDF

(D) BILO

(gB (D) o

13. 
{rrange the following words as per order in the
dictionary.

(i) necrology

(2) necromancy

(3) necropolis

(4) necrophilia

(,A) (1), (2),(3),(4)

(g (2),(7),(3), (4)

Which one of the given responses would
meaningful order of the follou-ing ?

(1) Plant

Q) Seed

(3) Fruit

(4) Seedling r"

(A) (4), (2),(3),(1)

(g (4),(1),(3),(2)

@) (1), (2), {1), (3)

(D) (2), (1), (1), (3)

(B) (2), {3r

(D) (:r,,:
SPACE FOR ROUGH WORK

?.ige2
I]KGi



J."- Yw Rvs
{n ' @^r",oa,

Hrqrq qfffitrr qq 1drypfi

lqqvr : qrc H@T t Q 6, d Rq ,rq ffii d t qqf*rr
qr</et{fr/sqTe}gf{q 

r

1. 11:132:: ?

(A) 10: 100

(Q 13:169

1(B) 
12s

1(D) 
122

3. AB:ZY::CD: ?

(4 \MX (B) w (g xw (D) w

4. s :Tan::Fft: ?

S{TIT - E

, 7'l-.L, ,'" g' g1'

1(4w
1.(g tn

(B) e:e0

(D) 15:250

p) qdv

(D) Et€

6 ft't'ltt

(g frq+l

(lu6 @)24

14 srffid

1q etffinT

(A) 88

(A) I

(B) e7

(B) E

p) frstut

p) T{fiur

(g 64 (D) 120

(B) frq-qr

p) rd

(g 132 (D) 121

(gB CIO

(B) (T),(2),t4),(3)

(D) (2), (1), (4); (3)

(B) Q),p), (1), (4)

(D) (3), (2),(4),(1)

5. FLOWER:REWOLF: FRUITS: ?

I3. f+qFefua {rdrqi yr<*lfl n fu rq qq * ei-{-sR

ffir
(1) necrology

Q) necromancy

(3) necropolis

(4) necrophilia

(4 (1), \2),(3),(4)

(g (2), (1), (3), (4)

l.4. t{q ffif d t *tq-e.r t{s,e +q fd gq {rd 6T

qtsts'sqqqifdTt ?

(1) dqr

Q) +q

(3) s.d

(4) fiq.
(4 (4), (2), (3), (1)

(g (4), (1),Q),e)

(4 lte

1q tfr'-q{

5. ffi 'qqgT',(S' ?

14 ersr

(g rqrq

(4 SrurRF

(g srurFR

(B) SrruRF

(D) STRUTF

(B) BKDF

(D) BILA

, p; +*e

P) $Trrlr

ft{yr : sfi swr zt rz tr+'d , fu.rq t{fiFif d * tssq
vetTorqtt uqrg.c3ftq r

7. (A) TPDC
'(q oLrF

C{-2013/Page3
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Directions : In question nos. 15 to 18, a series is giverywith
one term missing. Choose the correct alternative from the
given ones that will complete the series.

15. 2,3,5,9,17, ?

(A) 31 (B) 32 (g 33 (D) 34

16. 7,\2,22,42,82,

(A) 173 (B) 1.62

17, ACE,BDF,CEG, ?

(A) DEF @) DFH

(g 183 (D) 143

(q DEH (D) DFE

18. ABCPQRDEFSTU ?

(A) \'v\rx @) GHI (q rIK p) cKL

22. ff>denotes *,<denotes -, * denotes +,^denotes
x, - denotes :, x denotes > and : denotes <,
choose the correct statement of the following :

(A) 13>7<6i2:3^1

(B) 9>5>4-78+9>16

(9 9.3<2>1x8^2

(D) 28t4^2:6^4+2

23. Mahesh is '60' years old. Ram is '5' years junior to
Mahesh and'4' years senior to Raju. The youngest
brother of Raju is Babu and he is'6'vears junior to
him. What is the age difference betn-een Mahesh
and Babu ?

(A) 18 (Br 15 (g 13 (D) 06

19. From the given alternatives select the r,r'ord'rr-hich
cannot be formed using the letters given in the tr-ord.

MERCHANDISE

(A) MESH

(g CHARM

Select the correct combination of mathematical signs
to replace * signs and to balance the given
equation.

2*+*3*4*9
(A) *x:-
(g x-+:

(B) 59,580

(D) 60,380

[n a retail shop, there were 54 cupboards. In each
cupboard, 28 racks were made. In each rack 10

boxes were kept. In each box 4 shirts were packed.
One day 500 boxes were sold and 250 boxes were
purchased. How many shirts were there on that
day ?

(4 s9,360

(g 59,480

hr a certain code language Sue Re Nik means She is
bra\,e, Pi Sor Re Nik means She is ahvavs smiling
and Sor Re Zhi means Is always cheerfu1. What is
the code used for the word smiling ?

(A) Nik (B) Re (g Pi (D) Sor

(A) 0 @) 1 (C) l (D) 5

26. II1+4:9,2+8:18, 3--6:1r thenT*8: ?

(4 41 G) 23 ,Cr 30 (D) 32

If PKROK is coded as7)962 and KRRPK as29972
then how can IVJNILZ te coded ?

20.

@) DrcE

(D) CFIANGE

(B) X+-:

(D) *-:+

15428_
Lr' 20 5"3 5

21..

27.

(A) 7431,4

(g 51430

SPACE FOR ROUGH WORK

(B) e1.572

p) 45176

CY-2A13/Page4 000 KG 1 a'r



lenotes
otes (,
,')'

mior to
rungest
rnior to
Vlahesh

D06

r She is
smiling
\that is

)) Sor

FdyT : v'fi sqr rs t rs d q* €tJtrc t(qt t, ffi q*..rq
q'il t I t(.rq ffif i t qov$ f{f,rq gfrq Ei e{-{sq

*15u*t r

15. 2,3,5,9,17, ? .

(A) 31 (B) 32 (g 33 p) 34

1.6. 7,12,22, 42,82, _l
(A) 173 (B) L62 (g 183 p) 143

17. ACE,BDF,CEC, ?

(A) DEF (B) DFH (g DEH (D) DFE

18. ABC PQR DEF STU ?

(A) w\x (B) (g IIK (D) GKL

le. f<q eq ffiifr t os {r< *1gfr\ q} fi-i Rq rq
{tq d elTfud srqrir t q{ TS vmr ? r

MERCHANDISE

(4 MESH

(g CHARM

(B) DrcE

p) CF{ANCE

20. * v-ffi e1 qeoi BiI{ Rq rq {+flq q'r q-Eid-d qri
+ fnq effi nfrdi * q-S e-drn gftq t

qR > + q}<qfilt', . - qiqyrtdrt, * * dr<qTfdl

t, ",q1 <qrtiTt, - : q1qrTfilt, x >q1qsrtil

t eti : < qi E{rfdr t ii tTqfufuo qt v& qqc
gfrq t

(4 13>7<6*2:3^4
(B) 9>5>4-18+9>16

(g 9.3<2>1x8^2
p) 28 *4^ 2:6 ^ 4+2

cter q1 q[g'60'e{ t r {H rTtqT t '5'sd *dr t st{
q-qt '4' o{ eqr ?'r u'qmr v+Q drcT trT-i ETq.t ut{
s6ss0'6' q{ fra t r qtcr qh ET{qi sTrg d tfrilfl
3ril{ t?

(4 18 (B) 15 (g 13 (D) 06

ffi q-fg wqr i Sue Re Nik4'l erd t' Stre is brave,

Pi Sor Re Nik s-l slaf t' Sfr" is always smiling *t
Sor Re Zhi4-l qaf t' Is always cheerful. Smiling

{tq * ffl fts ets sT }rftr fmqr rqr t7
(A) Nik (B) Re (g Pi (D) Sor

(C)3 0))5

qR r++:9,2+8:18, 3+6:15d 7+8= ?

(4 41 (B) 23 (g 30 (D) 32

qR prnor d rzgoz*r rnnpxql zsgzz+'Fq
d sitrH lq-ql qrar t fr N1vrz Hi N *1kd t6-qi
qrg{r?

(A) 7431,4

(g s1430

D)s

ls128,4 
-+-X-X-:/20535
(4o (B) L

2* 4,,3 * 4* 9

(A) *x:-
(q x-+:

(B) X=-:
p) *-:+=7

D) 32

as29972

(A) 59,360

(g 59,480

qmq-<rgsTTd, 543r6rilftcT ?iTt !+fi 3rrqrfrn

28tfi qi q I vSot* d ro drw rd t r r+fr qmffi

d + q-69 61 S r q*' tcq 500 ilrtRT H ,rq orh zso

snE qq I 3-s Ifi ffir mfr'qrz

21..

, @) 59,580

(D) 60,380

(B) e1.572

p) 45176

rq^6'rd fr ffi q.rt

()OKGl CY-2013/Page5 000 KG 1



29.

28. If 'FATHER'is coded as'HCVJGT'then how can 35.
'SHIP'be coded as :

(A) TIJO

(g THKR

From the given alternative words, select the word
which can be formed using the letters of the given
word.

REPI-]"TATION

(A) PONDER

(g RETTRE

30. Find the hidden meaningful word from the coded
alphabets if the alphabets are in reverse ordel.
(A) 11, 15,26,13,22 (B) L5,11.,22,26,13
(g 11, 22,15,13,26 p) 26,22,15,13,1L

3L. Looking at a woman sittingnext to him, Amit said,
"She is the sister of the husband of my r,r,ife". How
is the woman related to Amit ?

Sharada started to move in the direction of south.
After moving 15 meters, she tumed to her left - twice
and moved L5 meters each time. No.w, how far is she
and in which direction from her starting point ?

@) UIKP,

(D) UKIR

(B) REQr.lrRE

(D) TUrOR

(.A) 15 m. East

(g 30 m. East

(A) 14km

(Q skm

(B) 15 m. South

(D) :Om. \Vest

(B) 8km

(D) 10km

36. Sonia started from her house and travelled 4 km
towards east. Ther-r she turned left and travelled
6 km. Then she turned right and travelled 4 km. At
what distance is she from starting point ?

(A) Dar:ghter

(Q Wife
@) Sister

@) Niece

Directions : In question nos. 32 to 34, select the missing
nurnber from the given responses :

32. 24 20 37

3125?
26 36 79

tA) 26 (B) 30 (g 25 (D) 23

33.654
765
576
3723?

(A) 10 (B) L2 (g 13 (D) 14

34- I 72 13

6510
28?
4i518

(A) 1s (B) 5 (96 (D) 3

37. In each of the following question, there are two
statements labelied as Assertion (A) and Reason (R).

(A) Autismis a developmental disability.

(R) Heridity and lower development of brain are
the causes of the Autism.

(A) Both (A) and (R) arefalse

(B) Both (A) and (R) are true

(q (A) is true and (R) is false

(D) (A) is false and (R) is true

One Statement is given follou,ed bv trt o Conclusions I and
II. You have to consider the statement to be true, even if it
seems to be at variance from com-uronlr- known facts. You
are to decide which of the grr-en condusions can definitely
be drawn from the given staten.ent- lndicate your answer.

38. Most Indians are ar,.,-ane that they have a great
heritage, but fer,r'u-ould include science in it.

Conclusion: I ]'lanr lndians consider science to
hai'e made Indian heritage gre4t.

\Ianv Indians are not aware that
India has a great scientific
heritage.

(A) Only Conclusion I foilows

(B) Ordy Conclusion II follon s

(Q Both Conclusions I and II follow

(D) Neither Conclusions I nor II follow

II

CY-2013/Page6
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lf south.
ft-twice
hr is she
oint ?

h

I

d4km
ravelled
tkm. At

;ue two
son(R).

rain are

ns I and
pen if it
:ts. You
finitely
lnswer.

a great
t
ience to
p great.

are that
entif ic

(A) rrjQ
(q THr.ir

(B) IJTKR

CI) L'iqI

28. qlE'perlmn.'st ,i{cvIGT,q'sc t Effi.{d fqql
'qrdr t fr 'surr,' qri ffi e,1kd lq-.-r.r qTqrn ?

Bs. sTr{-<T i q.R{ur fi$r fr se-{ qI6lq;qT I 15 cte{ q-€A &
eTE E-{ * en +rqi -qTq 

Wfr efr{ dfr qn 15..is q-t&
;rd r wq q6 er{'q{Bflr (ETr.g fffi 6 t eir l*,v
k{rr ri t ?

(A) 15q1.Td

(q 30 q1.Td

(B) 1s ii.qi\M
rD 20 t't"qkqq

ze^ t.l1efufu"f, &-s$fr q t {s aTq gftq -sfl Rq qq yrq

& erert q.r Is-hT "nrh e-{iil qr q.Effir t I

REPUTATION

(A) PCNDET{
(q rqET{i{E

(u) {rEQ{Jn{E
{D) TUTC}R

80" .sft, q-rf .r€ xq fi fr iii qil,fu-d Elil t qcl girTT e.T$fr
-Trq lrf, a"iE1q 1

(A) 11, 15,26,73, 22 @) b,1:r,22,26,13
(q 11, 22, L!5,73,26 Q': 26, 22,75,'13,.11

-11" q*Tt t .HTt d-6t Ef qf6-el q,i ,iiR ffi 6q arfqo E

E-dT, "qr qil s-mi h ,rtft T.fr Effi t 1', 39 qfffi 6;
3TFrd t Hl iTqsr t ?

(A) IrT 18) uiE
(A qett rn; q-ffi

,?{t1 , gffi E-{:q1. az v sa fr fq\ rrq ffiT' i = qr6 eT6 Eil.il

*fu-i{r

7) ')/1 fn :!-
LV Jl

3125?
26 36 19

(A) 2c (B) 30 (q 15 @) 23

33.6s4
765
57f)
3723?

(A) 10 (B) 72 (c) 13 (D) 14

34. 8 12

65
28
7 1Ei lJ

(A) 15 (B)

1a
-t.")

1rl

?

1S

5 (q6 (D) 3

s6. etFrqT erui c{ t qe1 efls + f.{il{t Td sl alh ,r$ r ns
sE"eTq rffi efu 6 Fsql =rrfi r F+,r qd Erq Tfl sft{
4 Fsrfr qd i qr r{sflq Hrfr t iffi q.$ ,i{ t i
(A) r+ kq1
(Q sf*-q1

(B) sffi
p) 10 tuEi

32. ffiffi_qf,r&#sffifr, vrrft qal oi-{"fl-*tn) *, ftrc
* m-uiq tEq riq B r

1ay enefutr5 frfficno.$ frflqnf,T t r

{$ ,}ruETfsT'frf,T 3fi\ qfurm sl q.-q tqffircT d-rr
r*rTqffitr}. qr-rrT t r

t\) (A) +h e) <HFre,r t r

ts) (A) sh {R) ++r.vfr t i

(q (A) E-6T t eir (R) rrfir t r

1n) (A),T6il t efu (n) sfr t r

rte qs r.rq f<qr qcr t, fsrs& 3rri -6 pwt I efl-q rn jM
-"-: * 1 31q-6:f fuqn eircr t is. s"m,q s-€ t.qB EE qlErc-f,"

ild H?4i t IriE s-e-d ETfrr dl I ,mr-fit fuq qi{fl t to frq rq
q-+q q- i qh-qr t{R-qd sq fr rr$ M j**-rdr qT ffifi-flT

f r rfii s+r +i fqfw qtfqq 
r

s8. eTfrry r{T qTrdF{ qr{t t fdr E{&'r{rq a-_s.:rarq fu{rsf,
t, f*-E S.s ssq fuflq ei cnt-{€ m-rt t r

tq6ad: r q-$ qn-fiq qmi t fq tq-sn t ,{r.#q
fr{Fd'qfrq-dqqa;q.Sr I

il ffS qTrfr.l rfr qtrA t*. qrs *-qrs
q6rq me. ftqrsf, t r

1a; +-*fqqd rft-m-ffdltr
(B) +-q-€M nft-+e-mtr
(q f{qd reftntfrffitr
(n) frrq-{ I eil-{rfr t HT-i =rdi frq-eror r

rq.qn-rd* ffisrrra

KG 1.
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39. Identify the answer figure from which the pieces
given in the question figures have been cut.

Questionfigures

mI
Answerfigures

MK
\{hich of the following diagrams represents the
c3lectlelaUonship between Herbivores, Tigers and
Animals ?

Answerfigures

Identify theregion that represents students studying
Biology and Computer nLt Mathematjcs.

Questionfigure \

M
(B) (D)(c)

42. Find out the number of triangles in this figure.
Questionfigure

(A) 12 (B) 14 (q 16 (D) 18

I4/hich of the following diagrams represents tt
correct relationship between Books, 

-Novels 
an

Dictionaries ?

Answerfigures

44. ' If the difference between the no. of clots on thr
opposite faces is 3, find out the figure which ir
correct ? "

' 
Arr-swerfigures

r^t
I (oo) 

Ii-i
l-,----'-lt-,---"-'

@t@l

Answerfigures

r-----_lrlnlil iIN\ II II - lL_
(4

W)lu/l
(4

Wlml
I L:J ll L::y I

l-;-
I /:yl
III'JI I ... t:)
i l:')/

(D)(B) (c)
(D)(c)(A)

41...

Directions : In questions nos. 45 and 46, which answer
figure will complete the pattem in the questionfigure ?45. Questionfigure

Mathematics
students

Biology
students

(D) 6

SPACE FOR

CY-2013lPage8

(A) 12

@.

--;r-v 
"ffi

ROUGH WORK
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rgure.

(D) 18

ssents th"e

ovels and

lts on the
n'hich is

,----'.-l(..) 
I-l

(D)

@)
fD)

EMMK

3e. q6 Ttrr elTTfr +ro qifsq ffi utt qT?trdf fr f<q
qqgEqqrt.rqtr

wr ergftrei

rm an5tret

40. FrqFdfuT t e +l'q-e.r sFrunc qn-*'qqt, ers 
"h 

cq

Ef,{orr6fflqf

w *x fld Efrfqq d *s friTq st{ Etqel{ c-d-i sTA

t*g.TfrIfr c r.6i Er& 6rit e1<qTfdT t r

umaffi

Ee etffidfrt5-fr*tvwtErflr{ql
uworffi

(l\) 12 @) '1.4 (g 16 (D) 18

frETkns( fr Q Siq-ffi srrrqm gwfit, srqdf sfu
qtrii + Eiq q-S veq ft1 wiar t u

wterr6M
t-l-lr-^-l

l3goll@oil GD) ll 60 Il---ll''- ll " ll - I(4 (B) (c) (D)

qfq sqrq+-qTqi fu .K fqg$ of sqt fr frq e-fi g

d, q€erTSftsdr{qdmlt 
r

wr arr5'Faui

(c) (D)

Frilvr : sfi vwr +s Sr +o t qtc a1rdr er5fr vm urgfr
+'vfr6qalXn+tfr?
4s. vm engfr

vtr wrgfrrei

i:,'!, ,i -

000 KG 1

(D)(c)(B)(A)

(c)c;l [d[-@.]')l -ll :l rururu

M
(B)

w

(B)

(D)(c)(A)

41.

m'qrd* ftr&wro

OOKGl
CY-2013/Page9



49.46. Questionfigure

l-ryyll"D(lI \Rl
Answerfigures

[^l
I {9'n IL4l!l
Answerfigures

[---lI
@l I

(A)

A piece of paper is folded and cut as shown below
in the question figures. Fronr the given answer
figures, indicate how it will appear when opened.

Questionfigure

Answerfigures

/--r.'\,\
lrt

50. A word is repre-nted bv onlvone set of numbers as
given in any one of the alternatives. The sets of
numbers given in the alternatires are represented
by two classes of alphabee as in tn-o matrices given
below. The column_s and rorr-s of Matrix I are
numbered from 0 to -i and that of Matrix II are
numbered from 5 to 9- A letter from these matrices
can be represented f =: t'u it= roz. and next by iti
column, 

".g,'ltI' can tre represented bv 42, 31. etc.
and 'P' can be represented bl- 95,88 etc. Similarly,
vou have to identif.r' the =t tor the n ord given
,ROST'.

/17 \A/hich of the answerfigure is exactly the water image
of the givenfigure ?

Questionfigure

From the given answer figures, select the one which
is hidden/embedded, in the question figure.

Questionfigure

Answerfigures

EEz:E

'\*-/ 
i

(c)

48.

@l
(D)

tB)

(D)

(A)

(g(D)

56,44,67,49

75, 00,1.0,92

97,21,, 66,29

68,33, 65,58

l.----ll,'ul
ltu' )

@)

i,-{^l f---r
L_Ql-i wi-i * 

i

7--,-l[ )t
I \."-/ I

(A)

Makix-I
0 1 2 J I

4 K L M N o
J L M K o \

-a N o L lvl K
1 M N o K i,
0 o K N L M

Matrix - II
5 6 8 9

9 P a R S T
8 T S O P R

R T S a P

6 S P T R a
a t1. P T S

CY-2013/Page1O
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uftsTrFFd

tFw-l| "r+x I| \el

=rsH

.=7-1s(ldtN/)

EEz]E
(B) (q (D)

ln.. ltHl
t--__l

| ., ll ..\ I:frL tls i

(c) (D)

qh ei Ym erffi * rTi 3fiFft er qS wa sfrfuq
E:
qgc sTrEfd

[-^-l
@_l

48. <1.rE sr-r 3r-ffr"rid i ss rrn affi q.,'EFq Eil

vrl erffiifrtrotr

tr-n belorv
fl answer
t opened.

ti ssT siT-5'frqt fr tqqTq s{sn qr.re q1 qt-ss{

q-rat nq ffi * qr< er fqu mr erffi dv ffi
(I1T ?

urq eryFa

srrergM

ooE@l
s0. Tf, v< *-+o qf, F-@r-q[6 gru <ttiq'rqr B, tqr

ft" ffii q t ffi q{ i Rcr.rqr t r ffi d
t<q rq ncn-v{a BrH.i * A sfi am ffi q $,

Sqr td {-i Rq .r.s qi qTqii fr t r emqa t*' msq
eft cf6 s* €gqT o t a fr .r{ t 3Xq eTrqon e1

s t g E{ srrqdr t g* sTrR si T6A sq-+1 qf*. ei{
eK i Hcq vqr arn q{rhr qr voar t r sqrflq +'
toq,'N{' 6} +2, gt erR Em q{riqr qr g*-dr tdefi 'p'
q1 95, ss snR grr qqriqr qr s*-or tr g{i diE t
'3rq-*1 scq t tqq {rq 'Rosr' *^foq qW q1 trrqr++r

tr.

rrnbers as
he sets of
resented
tes given
Hx I are
rix II aie
:matrices
ret+ i,tl its
2" 31 etc.
in'rii.rr1y,
rd given

sTr5.fr

(4

49.

--_l
I

l.l
vl

I

i

(B)

47.

--.---_l.3\lr "i i

t r rr/l
'\-E--l 

I_l
rP)

(D)(c)(B)(A)

(D)(g(A)

(B)

(D)

1Q (4

(g

56,44,67,40

75,00,14,92

97, 21", 66,29

68,33, 65,58

4 l) l-llrll
wr wrSfaui

snqa:-I
0 1 2 3 4

4 K L IVl N o
J L M K o N
2 N o L ll K
1 M N o K L
0 o K N L M

3rrdT6- II
5 6 7 8 9

9 P a R S T

8 T S O P R

7 R T S a P

6 S P T R a
5 a R P T S

}OKG1 CA-2013/Page11
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44.39. If A=1MAP:30thenTAX=?

(A) 4s (B) 46 (g 44 (D) 34

A group of eight friends S,P,L, E, N, D, O, R are
seated at equidistance in a circle. S and P are seated
in the North - South direction and L and E are in the
East - West direction. N is between S and L and is
diagonally opposite to O. If Ris nextto E thenwhere
is D seated ?

(A) Between E and P

(B) Between P and L

(Q Between E and S

(D) BetweenOandT

A group of alphabets are given with each being
assigned a number. These have to be unscrambled
into a meaningful word and correct order o{ letters
may be indicated from the given responses.

NOEDITUCA
L23456789
(4 3,7,9,9,2,4,6,5,L

(B) 3,4,7,9,9,6,5,2,1

(g 9,9,7,4, 3,5,6,1,2

(D) 5, 6,7,g,9,2,1,4,3

If VICTORY : \'LFWRUB then SUCCESS : ?

(4 VXEETW

(g \.lrEErrvv

(B) V)GEFTW-

(D) V\CFIVV

If Red is called as blue, orange is called as gr
white is called as ygll6r. What is the colou

40.

Ruby ?

(A) Orange

(Q Red

(A) Sound

(Q Explosive

(A) Sundav

(Q Tuesday

(B) Yellow

@) Blue

(B) Debris

(D) Flame

(B) Monday

@) Wednesday

45. Fire is related to 'Ashes' in the same wa)
'Explosion' is related to :

46. If the day after tomorrow is Friday, what day wo
have been on yesterday ?

41..

47. Which is the Sth number to the left of the num
which is exactly in the middle of the follow,ing 1

74 15 16 17 18 79 20 2t r z3 21 25 26 27

(4 22 (B) l1 (q 20 (D) 1(

Which number is rrrong in the given series ?

975, 864, 743, 612. rl1. ll0
(A) 743 @) 6lt (g 5j1 p) 4t

In a Caravan tn addition to 5 hens ther e are 45 got
8 camels and some keepers. If total number of foo
224rnore than total number of heads then find <

number of keepers.

48.

49.

42.

43. In a class of 35, first year students, Karuna is placed
7tn from the bottom where as Surinder is placed 9th
from the top. Mohan is placed exactly between the
two. What is Karuna's position from Mohan ?

@ ,rn (B) loth (g 12th 6p) rg,n

(A) 5 (B) 8 (g 10 (D) 15

How many times a dav are the hands of a clc
overlap each other ?

(A) 24 @) 22 (q % p) 21

50.

CY-2013/Pagel2
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d as green,
e colour of

ne wav as

davwould

he number
olr-ilg ?

;26 27 28

(D) 16

ies ?

(D) .120

re 15 goats,
er of foot is
m find out

lDl rs

ot a clock

(D) 21

(4 \)GEM/
(q \LEEnw

(B) \}GFHW
p) \,lrEFM/

10.

qRe:1, MAP:3OdTAX:?

(A) 45 (B) 46 (g 44 (D) 34

34Td lqir s, P , L, E, N, D, O, R q-i qfr Q.{6 \rfr Td fr

{qrl {fr ct t} t r s fit p rtr{-ElqTUT fffiT fr et{
r eil{ s Td-qtrqq Rfl fr dt t r N, s ei{ r *'*q t
d-dT t sh o+ qni fdrsr daT t r nqRn$erq +6r

tfr nq,d'd-atz

(O E Sh P*'qtq t
@) psrhr-+'Er-sq-

(g E fi{ s+qts t
(D) o Cr r* qtq fr

sril * q{i fr r+n qut el rr+ v@-r fr r{ t t qd
qs'qrlfs {rq fr {darEq et{ tqq uq sdir fr t s-&

mq qiqqfqq 
r

NOEDITUCA
123456789
(A) 3,7,8,9,2,4,6,5,1

(B) 3,1,7,8,e,6,1,2,7

(g 8,9,7,1, 3,5,6,1,2

(D) 5,6,7,8,9,2,L,1,3

tz. qft vrcronY:YLFWRUsnJ succEss:?

qR cro q1 qtmT E-ET qrq, qrtrfr q1 E{ 6-6T qrq, qfr-q

qi ctm'r 6-6T qK fr qrfu€ or rl ffir +Tr ?

(A) n-i'fr

(g tr,rf,

(B) +ml

(D) +dr

tqq !-si{ srFT qT q,qq rre * t sqi v-+r< ffia q-r

rrqq ffi t?

(A) 3Trflq (B) m-a{r

1c; ffizm p) qqr

qR q-o *. qre U*-fl sr-q{r A qEr BrT f,<q qT i

6 rfr-+n 1n) E}rqR

(g q',T-m-ER (D) gq-{R

cil sqr firqfufur S td-€t-€ c$q fr t Bq* qrq s d
{wr st{ {i t?
14 1.5 1.6 17 18 79 20 21 22 23 24 25 26 27 28

(A) 22 (B) 21 (g 20 (D) 16

fTqfufun W-dT d qt{ Ri swr.roo tz
975,864,743, 642, 53L, 420

(A) 743 (B) 642 (g s31 p) 420

g* sTFF-& { sgfHrfi erol6[r, 45q*.ffi, 8se sft
g;e ru+rd t r qR q-ir ei ge {.wt tsii e1 yo
sgl t 224 sT[er+'t d {iq-dr-dr q1 s-wr 36 allvq r

(A) 5 (B) 8 (g 10 (D) 15

50. frq fr ffi ER sg si gqqr q-{ Wt e1a+ tfi t ?

(A) 24 (B) 22 (g 23 (D) 21

11.;dav

{J. 35 6rit e1 q* fi'qil fr, q.sun q1 rt-A t zd tBTrt q{

{GT t w{fd {R-<{ q1 sct t gd rer{ q{ rsr t r

+6{ q'rtdq-d <Hi+ dr-s q ror t r *.-tun *ct t
qt{ t *enq q{ S:

(O ed 1n) 1oA (g uA io) 134

{s q,,rd *^ ffiqrrt

000 KG 1 C\ -2013/Page13 000 KG 1
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51. Where does the cabbage store food ?

(A) Root

(Q Stem

(B) Leaves

@) Fruit

1'

53.

54.

The compound that has the least value for octane
numberis:
(A) n-heptane (B) 2-methylheptane
(Q Iso - octane P) 2,2 - dimethyl hexane

Which body is constituted by the President of L:rdia
to advise on the decision of Central Resources
between the centre and the state ?

(A) TaxationEnquiry Commission
(B) TariffCommission
(Q FinanceCommission
(D) PlanningCommission

An increase in the quantity supplied suggests :

(A) a rightward shift of the supply curv-e

(B) a leftward shift of the supply curve
(Q a moverr.ent up along the supply curve
(D) a movement down along the supply curve

Obsidian, Andesite, Gabbro and Perodite are:
(A) Extrusive rocks G) Metamorphic rocks
(Q Intrusiverocks (D) Sedimentaryrocks

Which of the following books is not written by
Jawaharlal Nehru ?

(A) GlimpsesofWorldHistory
(B) Discoveryoflndia
(Q MyExperimentswithTruth
(D) AnAutobiography

Coupling and repulsion are the two states of :

(A) crossing over (B) linkage
(Q chiasr.a (D) mutation

The production, marketing, storage, advertisement
and consumption of smokeless tobacco is banned

55.

'.6.

57.

E8.

tn:
(A) Meghalaya (B) Assam
(Q Arunachal Pradesh p) Nagaland

CY-2013/Pagel(

.9** */yV 
RWg

PART - B

GENERAL AWARENESS

t. W. Sir C. V. Raman was awarded Nobel prize for h
workon:

(A) Sonometer

(Q Radio activitv

(B) LightScattering

(D) Cryogenics

so.

61.

Section of IPC, which deals with LGBT (Lesbia:
Gay, Bisexual and Transgender) community is :

The type of fruit obtained from a multicarpillan
apocarpous glmoecium is :

'Ai 377

(g 370

(A) multipie

(Q aggregate

(A) 3to5
(Q 0.5 to 1.5

(A) RoM

(Q Floppy

@) 376

(D) Noneofthese

@) composite

(D) simple

(B) 0.1 to 0.25

(D) 6to8

(B) RAJV{

p) EPROM

e:. \Atrho among the following is the founder of th
" Azad Hind Fauj" ?

(A) ChandrashekharAzad

(B) Lala Har Dayal

(Q Subash Chandra Bose

(D) VirSavarkar

63. The percentage of carbon in cast iron is :

64. The pair of compounds used as anaesthetic il
medicines:

(A) Nitrogen dioxide, ether

(B) Ether,Ammorua

(C) Nitrousoxide, Chloroform

(D) Ctrloroform, Nitrogen dioxide

\Atrhich one of the follou-ing is used as
storage system in computer ?

l

secondarl
I

b5.

l

x
I
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3r,t g
S*ej.-Lr,

Prize for his 51.

erlng

i

3T (Lesbiaa
runity is :

]se

lticarpillary,

I

nder of the

resthetic. in

9{TIT

qFITET

Tf,T rilfi Ers I,..flei sT g[6q-ds.-rm t l
(A) W (B) ckqT (g d{T (D) sd

erHq{-qr+td\f+-€ fr'ft6a1qrol rTt-{ Etdr t?
(4 n-ttq (B) z-tferdttr
(q BTr{si-qf*q p) 2,2-sw-tfrr€tdr

i3. +"q en{ rrq * 6fr-q +frq {-€ler+r+ Fiutq ql qqnri

+-ii + foq lqcfd ERr fs-s fi-*'rq qi rral ftnqr qrm

tr
(A) q.rlqHv.rq 3r-frrr

(q frE er*rr

en1ld sl qrx t gfe ffi <rTlfr t?
6 ffiqm$<lerurcrisnilET
(B) qnffi qen&EHcS 3Trf,{ul

1q ffiu*6r"4ffi
py ffi{m'q1qrm
srmB{r, qturga, itsi 3ii tts-{a Hr t?
fa) eBdql qgn 1ey +rlffiovETi

19 #w+n+ 1oy uaur{rugn

Fre.ff,fun n t eil{-Hi Ikffi q-sr6r em tw i rfr
ffit?
q4 ffie qiwqrtnqi
p; fsw.Efi srtuikqT
(q qd !Ntt-+<s fru Eu
(o) qq efffiuT,+;^r

p; tRmuiul,r

1D) +q-{r sTl+rr

;4.

ff.

i6.

i:. g'rn st{ qfrrfr{ur M E} effieiq t,
(A) ffiffq (B) v6mrin.t

1q <erflvor (mEtqT) py vcrFwdr

secondary :, . ,xtrtfrd dqq *'eroKq, ETotT, rt-gnq, fu-gmq si{
wttrr Irt s-ti'i-d 6.fr t?
tel iqrtrq (B) sr-{r-rl

1q a-oon+ovt*r py rrmds

000 KG 1 Cf, -2013/Page1^l 000 KG 1

J.-. YYY RruB

-ET
qrqffirfr

se. eTi. Tfr.ei. qq qfi fdq etd q q-Ff Ei{+ + fdq +q-c
g{wi{ t q'Tq"rfrn fqqr rqr ?

(O cqftrrqi 1ffiqtc{) p) s-sTqTq-{iidq

1c; ttuei uFlm p; ma},nffir

60. ernfrq qs s'f,cf,r ( e]r$.c1"H}. ) o1 qtq-d srT{r

qqd'frm, Ercz (rl) sqqdftro erlr .nrd'lrr+
(qd.v1.d.A.) vgqq t R-dfirn t?

6t. egsrefr (qEctfrr{er1)trq-gmrecl (qc}e.de)
1vmfrfuw; q i*=€ f*'tq q-r sET srkr

eh tl
6 o-gwdu 1ll sTff
(q U-S-fl p) srr-{uT

62. trqfufu'd d t d"{ I I 
o:lTsrlq F( S]q " q.r s.'rflqfi

€/
(4 =Rqi eilHrE

(g E'gflsE-(Et€

62. 6f,-ql dtq qrfiq er sFd{rf, tqrf,-{r +dT t?

(A) 377

(g 370

1ey ats
1c; o.st r.s

(4 tc
(g .FTfr

(B) 376

(D) Eritfrti!-S

(B) d[flr 61({lcl
p) firvr+wr

(B) o.r I o.zs

6oy ets

(e) tc
(p) qctm

64. 3Mtdifr Hrq-fi (qfi=*pirfsqr) & sc q fiiidr +'
k g* eT s-dr,T fqq q-or tu
e) il1frfi e6-eiwr{-s, {q{

@) {qr, sfi}Eqr

(g rr{fs aTwrq.s, ffi}tqrd

6n) RtM, Tr{frs{ sr{-eti*T{s

Hqe* qfffr-qmerr€lT fseq;6q t lrrrkfun i
q'ifis+.r tr{iFr ifiqr qrm E z
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(A) Dutch
(Q Germans

CY-2013/Page16

Which of the follov.rings is not correct ?

(A) MSP-MinimumSupportPrice
(B) NMA - National Monunrents Authority
(g PIL - Public Interest Litigation
g NCT-NationalGrowr\Tribunal

The plants, which grow under water stress
conditions of deserts are :

9r.

67.

68.

69.

Preparation of butter, ghee by a household for their
own use is a part.of :

(A) consumption
(B) own-accountproduction
(Q household capital formation
(D) industrialproduction

lVho was the Delhi Sultan to impose Jizya even on
the Brahmins ?

(A) Balban
(Q FiruzTughluq

Total assembly segments in Delhi are :

(A) 40 (B) 50 (g 60 (D) 70

Flywheel is an important paft of a steam engine
because it:
(A) gives strength to the engine
(B) accelerates the speed of the engine
(Q helps the engine in keeping the speed_ uniform
(D) decreases the moment of inertia

73.

qd
t'4. The freezing point of fresh water is

(A) ftiophytes
(Q Xerophytes

(B) Epiphytes
(D) Heliophytes

(B) Ala-ud-dinKhilji
(D) MuhammadTughluq

(B) Portuguese
(D) Spanish

70.

71..

n5.

(4 0"c (B) 4.C (q 3.C (D) 5.C

[r relation to the State Govemment, local govemment
exercises:
(A) IndependentAuthority
(B) Co-ordinateAuthority
(Q DelegatedAuthority
p) SuperiorAuthority

Which National Highway is called Shershah Suri
I\{arg ?

/;^J National Highwav No : 1
(B) National HighwayNo : 3
(Q National Highway No : 8
(D) National Highway No : 7

Potato was introduced.to Europe by :

76. \Atrhich of the following does not have a Stupa ?

77. Deficiency of iron causes :

(4 fturry
(Q Polio

(A) Dhamek

(Q Sanchi

'.A) Rads

(Q Roentgen

(B) Ranchi

(D) Barhut

(B) Goitre

(D) Rickets

(B) Karl Marx

p) Nlachiavelli

(B) Rems

(D) Curie

78. 1 /ho said that "Where there is no Law there will not
be Liberty" ?

(A) Johnlocke
(Q Plato

Consumer Protection Act 1986, n,as amended in:
(4 1ee1 (B) 7ee2 (q Lee3 p) 1ee4

The damage of the human body due to radiation
(X-rays or T-rays etc,) is measured in:

79.

80.

81. The Constitution of India, describes India as :

(A) 
-Unionof states (B) AFederation

(Q Aquasi-federal (D) Unitary

82. Soil factors are othenvise knou-n a.s :

(A) Climatic factors (B) Eelaphic factors

(Q Biotic factors (D) Phvsiographic factors

c.3. The UNIX operating s\-stem is suitable for :

(A) Single user

,@\ Multi user

(Q Real-TimeProcessirg

(D) DistributedProcessing

84. 'Democratic Centralism' is an important feature of
a:

(A) Socialist state (B) Communiststate

(Q Democratic state @) Totalitarian state
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:s. ffifi qR'qR ERr 3Tqi fffi sqlr * frq qEFs.{, qi

tqnq-c+rt*-smT sTrTt?

(A) srd G) Fi-qr itGl, t{qful

(q qt-(TSFTctq 6o) 3fi-€irfiT+snrfi

19. dra"it T{ gfi qfuqr 6ry} q61 ffi gif,H *tc er ?

(A) q-qq (B) 3r-fl-sm fissfr
(q fin-t-f,grlf,{t (D) Tdq" EITTfr

-0. ffidgmffiflqqrcsqTfr t?
(A) 40 (B) 50 (g 60 (D) 70

iffiFftrttmq-dTT€tt?
r.\) \ISP-fuFqqqqtasr{.s
(B) NMA-furteftta.e 3Tr?rik8

(o PiL - qkqt exz feE-tqn
(D) NGr -i{lrE fru [qr-e

6T{-t qrfl qtrerf,

E]'-d E /

(A) RI+sTqz

1q -dn FEz

*1 qo <rq frqftrq) fr Msd

(B) qfrErn

(o) eiffiwrqz

qFdqrf,fi * * $* s'r q-€-q1rri iffiT qqi tm t z

(A) q6 !-d{ drqrRf, tdr t r

(s) {s{ q1'rfr d A-q qrm t' r

(g rifr ol sqn rg-i d gwt an sflqdT q-cm t r

(D) ss€ + {+'r el e.q q-ra t'r

dG rT-fi qrffi-*.f+q wr tu
(A) 0'c (B) 4'C (C) 3"C (D) 5'C

niq vfd-R fr veq q TqHrq E-fs'R r*Ts.r rfr'r H-rfr

6/
6 Wrrvriu-*r-r (s) {rtrfiqrqrltffi'R

19 uenifwaqrfsr+R 1o) Tqltltrm-n

l*,q {Hs {qqrridr twr€qt qrf q-64 t?
14 rtEtn rtqqTrf r.r (s) n*q trqwi r. s
(q trqq rqcFf i.s (D) tr*q trqcrf r. z

$c q enq*1t-ilqn frtqi gG s1 ,fi ?

6s) T&fr-q
p; di+vr

l.

-1

-3.

?6. flrE{fuf€n d t B-6i r$ r€i t z

1a) qtm' 6s) rfr (g €ifr 1o) etgd

72. 
"=n-6qi 

m.fr t qtq-e, ftr 6t-dl t?

zB. "ffi 616 Td, Td'qdTdr rfr" q6ffi o-a sn?

(O w-ei

(q tm

(A) qi{ETfi

(g d"a

(B) rm{dr

p; fr+-+

py edud
foltrffi

(B) cffi
P) q*r.q+

Bqetffir vcqq s{rTtfiq, 1986 fr f*.q s{ sqttr{
kql rrzil ?

(A) 1ee1 (B) 1ee2 (g 1ee3 p) 1ee4

qr+q qrt{ d f{Fq'$r (x-Fnruitzn "l-futoii STIRI fr
*.nq gi qTfd *,l ffis d qrqr qrdr t ?

6 te 6n) \t (q frqrcqr (D) E{0

81. qrrf, fi-sfrtrn d 'rR" 61t+.q sq d sFf( fq.ql rr{TI

tz
14 rdrmfr
1c; qffi-e.w

1fr urro e1 q;q sc d qmr qror t :

(4 qc-{rg-6rr*, 6ny 5fi+e.rw

19 frfra+rr+ py 1-ear-rFr-.Er-rs

{trw 1uNx) errcH fu€c ffi fq wgs( Ailr
tz
(4 qfsrrqi-fiT

py e-gwilmr

1c; erwtm'srq eqrq{

1o) f{dica esrtr{

"-ffifi tdt*rur'trffi*i qftswitqFrqdr t ?

(A) RrTrwqr{'rtq p) srwqrql {q
19 ffi*lw 1oy vdwrrcr*ttw

83.
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85.

86.

87

88.

89.

90.

91..

92.

The current spell of cold wave in the US has been a
fall out of the :

(A) political administration

(B) polarvortex
(Q biodiversity and habitats

(D) climate and energy

The Minimurn Support Price for food grains was
introduced in the year : ,

(4 1es4 (B) 1e44

(g 1e64 p) 1,e74

The site of birth [nativity] of Gautam Buddha is
marked by:

{A) a Peepal Tree

(B) amonastery

(Q a"RummindeiPillar" of AshokMaurya
(D) a statue

The threshold frequency is the frequency belon
which:
(A) photo current is constant

(B) photo current increases with voltage

(Q photo current decreases with voltage

(D) photo electric emission is not possible

Stamens are fused with each other by their anthers
and also with the petals in:
(A) Euphorbiaceae (B) Legunninosae

(Q Liliacea" (D) Compositae

Transition ions absorb light in : '
(A) visible region (B) infrared region
(Q ultravioletregion (D) microwaveregion

'Shadow Cabinet' is the feature of Administrative
systemof :

(A) Japan

(g usA

"Ryder Cup"

(A) Golf

(B) Britain

(D) France

is awarded to the players of :

(B) Baseball

(D) Cards(Q Basketball

CY-2013/Page18

I

W. The unit of noise pollution (level) is :

94. Virtually treeless, sparse vegetation is found in :

qF Who is known as the Father of 'Indian Unrest' ?

(A) Bipin Chandrapal
qit Bal Gangadhar Tilak

(Q Lalalafpat Rai

(D) AurobindoGhosh

Dactylogram is reiated u-ith :

/A) fingerprint (B) teleprinter

(Q perumbulator 1D) cereals

99. Who benefits the most during the
period ?

(A) govemmentsen'ants

(B) corporate sen'ants

(Q creditors

(D) entrepreneurs

inflationary

100. Study of organisms in relation to their environment
is called :

(A) Palynology

(Q Zoology

"Krishi Karman Aw,ard" 2012-1gfor all time record
in food grain production n'as given to :

,qF
Tesla is a unit of magnetic :

(A) field

(Q induction

(A) decibel

(9 ppm

(A) Chapparal

(Q Alpine

(A) Octisha

(Q Han-ana

(B) decimal

(D) Noneoftheabove

(B) Taiga

@) Tundra

.(P) flux

(D) moment

/B) \ladhva Pradesh

(D) Tamil Nadu

Gl Ecology

(D) Entomology

qt.

9e.

)
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? above

iouncl in :

time record

adesh

f,

Unrest'?

(A) 1e54

(g 1e64

(B) 1,e44

p) ie74

6n) trgtuiei
1o) fiMr

sfiRqT i srm dut sfi {dqq qqlrT sT q.t-{ur Hr t ?

(A) {qfifr+'v{rRr{
(R) *u1u ersr

1c,1 f+fefuu-or eln errqrs

p) Ersr4rgsit{s-qf

i6,. qrfl?ir 6l qr{q sq'?ft {s ffr'€'sd Es ftrr riw ?

,trdc g-d 4't qq lrrn ffi urc aif+T fuqT qrdT t ?

(4 frTd qqi

(n) dtr{d
(g sT{h*' ff 61 ' 'Tfr1qt 6u ' '

(D) $

ffi-siT{fd *si snqfd t?
(4 ffi'dirorvr qrilfrentfit 

r

py ffi' fri tilear S qrq-q1q etF,r{T qrtr {.6fr t r

(q ffi +A qteci*'mq-HrqrrT{r emr seft t r

p; firvh tri FFrfl fun eru-qq esrs 16T +dT 7

se. g*ar srci wn atflt* I 3tft cffi t $ ffi qrsq

fift}EIA t?
6 prtrffi
fc) inmm

58.

90. qfrq'T sflq{ fq..si Tmr$ q1 erd{tfr,d 6-i ta t ?

rflationarv
J

(A) Ecq qrd @) s{T.# *1

1q qrtffi *7 py qr+rrn aiz

:1.'6q1-qffie,' ffi q{nqfrs q"rcqt dfrRrse-dr

tz
(a; qrcn 6e) fEh

1c) Rgff{q elif{o.r p) }6tq

:- "{qs{ q-q" f*,s d-d + ig-drHi si fqqr qrm t'?

(A) rts (B) +sqmm

(g qT*-d qfer io) ilqT
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s4. sTrr{rsl qq {fff t{rf, T{sfr q.tf cTi qrfr t?
(B) ?ffi

(D) gET

e3. wfr u-qvq (w) e1 qF,ra m t Z

6 ff+oe

(Q ppm

6a1 tture

6oy wir+mdtql-iTd

py uetvtvr

6o) -dFr€ rrg

fnl *-i.ika+ffi

1o) ssfr
Y

py ffifaqftml favn

6o) qtc ffin

(4 Erqr€

(g sirctql

6 etfuvr

A ERqrun

ts-dr grE-sls ot {fu t r

(A) *-d (B) rqr6

(g hq io) {+T

ErsH fi ror<c i Etqn ft+rd q6 *'ldq "Ffu
mftr Stw.R " 2012-13 ffi kqr rrqr ?

97.

98.

" qrfrq GT{Iifr'qnl s=ttr ffi erw qmr tZ
(4 tqfrr qilrd 1r) emTrntr{ tf,cfr

(g drf,idsrqd{r{T 6o1 enf+*mv

+r*-o qmr qr sqq fars0 t?

14 ffi-urv p; ttuka
(q tr-ge-c{ (D) qrq

ss. Tff{s"rfr Efr et-+fri f rrq'Q srfrTfi sr+fl f*-sfrr frdT

Q:

(A) H{*rfr+.dqr0

(q t{-qR

100. tri+ E{* !"ri-qr.T * rreq d qqfi *1 *n qtil
€i
(A) {qc<tq-dn

(q yTfrrfqr,.{
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1.01. A can do a piece of work in 16 davs and B in
24 days. They take the help of C and three together
finish the work in 6 days.If the total renumeration
for the work is t 400. The amount (in rupees) each
will receive, in proportion, to do the work is :

(A) A:150, B:100, C:150
(B) A:100, B:150, C:150
(g A:150, B:150, C:100
(D) A: L00, B:150, C:100

IA/hen 75 is added to75% of a number, the anslt er is
the number. Find 40% of that number :

(A) 100 (B) 80 (q 120 (D) 160

1"03. A train 50 metres long passes a platform of length
100 meters in 10 seconds. The speed of the train in
meters,/ second is:
(A) 50 (B) 10 (q 15 (D) 20

lO4, What will come in plape of the question mark (?) in
the series ?

3,8,27,112, (?),3396

(4 s65 @) 452 (cI 560 p) 678

105. The difference between the compound interest and
simple interest on a certain sum for 2years at10%
perinn.rm is {300. Find the sum:

PART - C

QUANTITATIVE APTITUDE

(A) < 6s0

(g < 700

109. Jasmine allows 4% discount on the marked price of
her goods and still earns a profit of 20%. What is
the cost price of a shirt if its marked price is < 850 ?

102.

110. Selling an item for T 1800 at a discount of 10% a
shopkeeper had a gain of ( 200. Had he sold the
iten'r without discount the percentage of profit would
have been:

(A) 10% (B) 20%

111. A table with marked
customer for { 1100.
allor,r,ed on the table.

@) < 720

(D) < 680

1gftzsu (D) 30%

price { 1200 was sold to a
Find the rate of discount

l1
(A) 9"" (B) 5-"o (C) ni'^ p) 10%

106. \zVhat number should be subtracted from both
terms of the ratio 11 : 15 so as to make it as 2
(A) 2

107. Value of

(B) 3 (g 4 (D)

172. Each of the two circles of equal radii with centres at
A and B pass through thL cenEe of one another. If
they cut at C and D then ZDBCis equal to :

(A) 60" (B) 100. (g 120. (D) 140.

113. A man, a woman and a boy together finish a piece of
work in 6 davs. If a man and a woman can do the
work in 10 and 2{ davs respectivelv. The days it
will take by a bov to finish th.e rrork is :

(4 30 (B) 35 (O {0 (D) 4s

lL4. The average of 11 numt'ers is 63. If the average of
first six numbers is 60 and the last six numbers is 65
then the 6thnumber is :

(A) 57 (B) 60 (g 62 (D) 64

(A) < 31,000

(g t 3o,ooo

(B) < 31,500

(D) < 30,500

h the
3?

5

("
(A)

n'z! + sin2 azl + tanl 2o.tan2 88"22

I
: 66 then the value of

:7

(Bt 10. - 6

(D) =l

(D) 4

115. If *2 +

,2 - 1.+

1

)x'

2x(B) 2 (C)0

108. Find the value of 1,-2sirP 0 + sin4 0.

(A) sin+ o (B) cos4 0

(Q cosec4 o (D) seca o

(A)

(g

x

+8

6, -1.0
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SPACE FOR ROUGH WORK
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e.It{T - rT

qRqruntr{ sTFftfq

rkecl price of 1111.

)oo. What is
ice is { 850 ?

mt of 10% a
he sold the

profitwould

@) 30%

as sold to a
of discount

rD) 10%

th centres at
r another. If
Ito:

iD) 140'

sh a piece of
t can do the
The .iays it

tD) 4{

: aYerage of
rmbers is 65

ID) 64

talue of

102.

1 05.

A q.r sFr o1 ro fq{ C qri Errirr t' erh s z+ Rq d r i
cqfrvorcrortt t dkffifrdfi{ q.re oRr t gn*r
tfr t rqR om fi f€q Fd ffiskfi <4oo t, fr qrq

* ergq6 d et qk q1 nrf,i srd {rRr (wdr d)
Q ./

.Afit A:150, B:100, C
(B) A:100, B:150, C
(g A: L50, B:150, C

(D) A:100, B:150, C

(C)0 (D)4

10e. qM{ eil-fi q-qsn * eTt*-d {fr yr 4% qc tfr t st{
fui $ 20% drrr sTGfH q-rfr t'rss o'*s ql orrro

Hr t ks+.r stfu-d qiq { 850 t?
(A) { 650

(g { 700
@) ,7 zzo

gaf < eso

(A) 100 (B) 80 $tr 120 (D) 160

50 frE{ c-fi qo .rS roo qtc{ da qo ffiC a1

1st#si qi 6tfr t, ,T€ qi.rfd.ct-c{ r t+-s C, t :

(A) s0 (B) 10 *wr, (D) 20

Tqel fr sfi t{qT (21*. wn q{ BII 3nqrn ?

3,8/27,'112, (?),3396

ekKl ses (B) 4s2 (g 560 p) 678

ffi {rfrr w q*gk qM sil{ qrqRq qrs *'qts
10% sfud q{ 2 E{ + fdq ei-n < 300 t"t nlvr an
qtr
(AV 31,000 (B) < 37,500 /

f ,30,000 [D) { 30,500

1L0. 10% q1 qa r{ qfr qq ql < rs00 d tq o-r q+
' S*.rl-fi i < zoo s'r drq fiq fs-cr I qR Bsi Efr tfir

qa + nsr *-dt ii Erq ET yfd{Td 
*T :

(A) 10% .(B) 20% \ffZSU. (D) 30%

111. orFtrf, Itfl { 1200 Erel qfi i-s q*. qr6fr q1 { 1100 i
+m T{ rtq vt fr ,ri E^z qt q{ il-f, qt 

'

-1 1
(A) e% w u" JC) ,in (D) 10%

ttz. Airsrr B H'er0 vqn fTqrcir + fr Td i t y+fi
q-s'-(s\ + +-( t 1-$C t I qR A c ark or{ nt ii
IDBC4:I qH I' :

(4 60" (B) 100" ,1/ro. (D) 140"

113. g+' ur<fr, qo etra eh qd,'vg-m.r fqo q{ (s'*rq
qi oRq d W qri tr qR w e{Kfr qP q6 atm
orq q1 s-wT : 10 sil{ 24 F{ t {ri +r s6A t fr q*
Hs+'q1q6 firrr W q.-ri d f+-A ftc d'in Z

(A) 30 @) 35 ,ga6 p) 45

11 Tqrei er etrd og t r cR qtfr st vqreir qr
etsf, oo t sh s+lilq 6.6 v@Bi q-r etsd 65 t, a
s&ssrt:

n$f" cn)

r)1
11.5. qK x- + z :

(A) t8
(g 6, -10

150

150

100

100

103.

i04.

1J5. er{crd 11 : 15 si dr'r: Ter t dh-Hi s@r T{ri qrq

mf* rc 2: 3etff ?

(A) 2 g 3 (94 (D) 5

+ sin2 az! + tan2 2o. tan2 88") *,2)

t't4.
x

:--. ("in2 z!t,
\4

qI;It:
(A) 1

60

66,fr

62 p) 64

*2 - 7+ 2*H.,q-FI:

1 - 2 sin2 o + sina o tfit qrq ;ila qt 
t

(A) sina 6 g6f, cosa 0

x

"t"F) 
'1.0, -6

(D) t4(Q coseca 0

000 KG 1 l', -1113 /Page2i.

(D) seca 0

1c6Hrd* ffiqrr6
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176. If I be the incentre of AABC and lB:
lC:50, then the magnitucle of lBlCis:
(A) 130'

. (c) 120"

117. For a triangle ABC, D, E, F are the mid-points of its
sicles. If AABC:24 sq. units then ADEF is :

(A) 4 sq. units (B) 6 sq. units
(Q 8 sq. units (D) 12 sq. units

118. If a2 + a * 1 : 0, then the value of a9 is :

(A)2 (B) s (q1 (D)0

1'1,9. For a triangle circumcentre lies on one of its sides.
The triangle is :

(.A) rightangled
(C) isosceles

126. The simplest value of cot 9' cot 27" cot 63' cot 8L
is:

(A) 0 (B) 1 (g -1 (D) v5

127. 553 +t73 -223 +201960 is equal to :

(4-1 (B)0 (g1 @)17
128.. If

(1 + sin A)(1 + sin B)(1 + sin C) : (1 - sin A)

(1 - sin B) (1 - sin C), 0 < A, U,a . ; then each

side is equal to :

(A) sin A sin B sin C

(Q tanAtanBtanC
(D) 1

129. A sphere and a hemisphere have the same radius
Then the ratio of their respective total surface are;
is:
(A) 2,1 (B) '1 :2 (9 a 

' 
3 (D) 3:4

130. Findthevalueof:

n(*+ o'+ ,11, - _. - - \ .l/-f-l=

1whenr: *1, t1 : -i,

(A) 1 (B) 0
1,(g -1. p) ,

131. f'he ratio of the ages of tn o persons is 4:7 and thr
age of one of them is greater than that of the other b1

30 years. The sum of their ages ( in years) is :

(B) obtusedangled
(D) equilateral-,

) -2 t*t.'
lf .r + : : 1 ,,then the value of 3=--j----: is :rr " xrli_r;
(A) 1 (B) -1 (g 2 (D) -2

In APQR, the line drawn from the vertex P intersects
QR at a point S. If QR : 4.5 cm and SR : 1.5 cm then
the ratios of the area of triangle PQS and triangle
PSR is :

(4 4,1 (B) 3:1 (g 3\? (D) 2:1

The angle in a semi-circle is :

(A) a reflex angle (B) an obtuse angle
(9 o.tacute angle p) a right angie

If r : k3 - 3k2 and y : 1, _3k, then for what value trf
k, will be x:!/?
(A) 0 (B) 1 (c) -1 (D) 2

The rnarked price of an article is { 500. A shopkeeper
gives a discount of 57" and still makes a profit of
25,"2" . The cost price of the article is :

(A) { 384

(g t 300

(B) < 380

(D) { 376

(B) 60'
(D) 105"

121.

"t22.

123.

(.A.) 110
(g 7u

SPACE FOR ROUGH WORK
q\+\+y

The value of 0, n,hich satisfies the equatior -.
tan20+3:3 sec,0,0o < e < 90" is: L,,

(B) 100
(D) 40

(B) 30" or 0o

p) 60" or 0'

(B) 288 m3
p) 1152 mr

t24.

(A) 15'or 0'
(Q 45" or 0"

1"33. A right pyramid 6 m high has a square base of whid

the diagonal is .,1152 m. Volume of the pyramir
ts:
(A) 144 m3
(Q 576 m3

1,25. A can do a piece of work in 12 clays and B in
15 days. They work together for 5 days and then B
left. The days taken by A to finish the remaining
ra,ork is :

(A) 3 (B) 5 (g 10 (D) 12

134" A train rurming at the speed of 8-1 km/hr passes i - -
man walking in opposite direction at the speed o -
6 km/hr in 4 seconds. l\.hat is the length of th
train (in meh'e) ?

(.A) 1s0 (B) 1,20 (q 100 (D) e0 J
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cot 63'cot 81 . -
h

P) J5

@) 17

sinA)

'theneach
:1i.

) same radius
I surface arei

(D) 3:4

W
1p),

s{:Tandtht
of the otherbr
ears) is :

lhe equatior . -.

:baseofwhid::.1

I t]e pvramir

n/hrpassesi ---
t the speed o --:
kngth of thr

@) e0

qE t .raec sI e{-f, ,*-( E} .3th ze : 70' sik tC : s0",

4t TBICH qftqpr t . ./
(A) 130" (B) 60' 2K) tZO" (D) 105"

qo BTs ABC + fmq, p, E, F ss*l T.arst & qeq'

.+E H r qle aenc:21 qrf .q'fTz fr IDEF t :

(A) 4 qrf gf{z 6 ,4n {f{e
(q 8 qri{fr-c (D) 12+ri {frz
qfE ar+a + I :0, di aom ml p:
(A)2 @) ? tc I (D)0

\ro frW + fmq cfe-{ es-mi q-f, Ryr n ftrra t r

*P t',
JA) s!-mTul

(c) Ecrilng

apetl i, vfr.i p q a{rd '.Td t{il eR q1 fug s w miafr

t r qR QR : i.5 .,.,., aln SR:1.5 cr't d lz5q rqs
.{h h5q psR s ,i7'+-di * erU"rro t .

(A) a:1 (e) i:1 (Q 3: z g{z,t

W cot 9o cot 27" cot63,cot81'fiTqf€iFT Cl;Tt :

.(A) 0 (g -1 (D) J5

553 +172 _723 +2O1goO ffi qirfl t ?

(A) -1 " @rY\ (g i (D)\/
qf(
(1 + sin A)(1 + sin B)(1 + sin C) : (1 - sinA)

(1 -sinB) (1 -sinC), 0. A,B, C. +fr E{ Uqr
z-

ffiq$fl t ?

(A) sin A sin B sin C
.(B) cos A cos B cos C
(Q tanAtanBtanC
(D) 1(B) -3TlFTf, zrT'rr

(D) ;l-q4-g

, ..,-l +r+2i,dt :-;6lII{€:1- (l - .r )

(B) -1 (c) 2 p) -2

1,7

')

::0.qIEr+-:
.1-

,/
'Lkf 7

: ,9.

: :1.

::r. 3Ttr{a C ET'r fir ?' ,

Ttst:
(A) t 384
(g { 300

(A) q-d;$r'rT G) 3Tfiffi6ru1

(q ar qrrn gd ".-t
cR *: k3 - 3k: at ,7:1 - 3k, n) t trt+e 1:q +
laq r: y ilrir ? ,
(^)o 5{t (q-1 (D)2

a,s. qq q] 3t'fu-il Ts r s00 t't gsl-{-<T{ 5?6 sl qc
e-dl t s*{ fw fi 2s7.4r trTE q-crdt t, rE qt s-q

t{r xo
(D) { 376

{ \r*. sH e} rz Fc { q-{ E-+,"r i m n ts icc t r i
Td 6T s |(q +rq q-,.4 t -rir{ t -r, B 6r-cedi t r nanr

128.

4

t29.
{

130.t

\tr riltrfi sft qm ,ierd fii frqr q6i t | fr $T+
3r9-3ici $-m Yg fri oi ergvro t' ,

,l4f z,t (B) 1.:2 p a:3 p) 3 :4

w*wF sT

CH$dqtqe x: *1., A= -3, z: -1. upti,":

O,^rrst,-^;*1

fit rr.{o l
(A) 1 (B) 0 (g -1 (D) ,

131. i qffi s1 sTrg sr Br{qn a : 7 t sil{ B-{.S t qfi q1

srq (st e1 ertqTr 30 E{ sTf}rfi t I ET*1 erg$ +.r

d1r" (efr d) t ,

-rkA) tto (B) 1oo (g 70 (D) 40

192. qqt-sTuT tan2 0 + 3 :3 sec 0, 0" < 0 < 90" EI sEE s-{i
qrdeqrqr{t:
(4 ts'q 0" (B) 30"q 0"

(q 45.q0" 
"fi 

6o"qo.

133. 6 m #i qd'{r{c fflfr-s tnt g.F'qri enqR t fqq-sr

ffi vT152 m $ 1 fiftfiryg q.r e{rrrtrr t' :

(A) 144 m3
(Q 576 m3

"t34. 84 km/hr qfi'rfd t qq € q6 rTd ffid fffiT q

6 km/hr tr1 Tfr t qo rtq* etTEql dr + t+-g q cr{

(B),288 m3

g)f ttszm3

;TFlc Ta 4-r{ 4. ia\ ffi 2e, rql rrl ?

y4 t (B) l (c) io (D) 12

6Tdi t | ,ns-1 61 ffi (rfrc{ d>wr t z

(4 150 (B) 1.20 1fi roo (D) e0

OOO KG:

1t66rd* ffisrrrt
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L35. II2*-1+T +1:320, then the value of r is :

(A) 6 (B) B (g 5 p)7

136. Among the angles 30',36',45o,50" one angle cannot
be an exterior angle of a regular polygon. The angle
IS:
(A) 30" (ts) 36" (q 45' (D) 50"

The adjoining pie-chart shows the proportionat
expendifure on various item of Amar's family. If th
monthly income of Amar is t 48,000/- then answe
Question No. 1tl4 to 147.

SAVINGS

744. Had his income <.+0,C00 /- how much would b
spentonfood ?

r.A) 14,960

(g 6,160

1.45. If 10% of miscellaneous expenditure is earma
for clothing, how much amount is spent on
?

L38. If a
(A)

(g

: 401L and b : 3989 then value of ab : ?

15999879 (B) 1s899879
1.s98997s p) 15ss8879

139. The value of sin2 55'+ sin2 ZS' + cos2 35. +
cos2 55" is :

(A)0 (B)1 (g2 (D)+

740. In the following nurnber series a wrong number is
given. Find outthatnumber.
8, 18, 40, 86, 179, 370, 752

(A) 178 (B) 180 (C)'128 (D) 1s6

14L, If the ratio of volumes of two cones is 2 : 3 and the
ratio of the radii of their bases is 1 : 2, then the ratio
of their heights will be :

(4 8:3 (B) 3;8 (9 4'3 (D) 3:a

(4 0.3

(g Josl

(A) l year

(Q 2 years

(B) Jo. e

(D) Js

142. 3 years ago, the average age of a family of 5 members
v,ras 17 years. A baby having been bom,lhe average
age of the family is same today. The present age of
the baby is :

(B) t] r"u.,
(D) 3 years

146. Howmuch does he savepermonth?

(A) < 14,400

/.C) { 2,990

(B) 1,360

(D) 6,800

(B) { 1,440

(D) T 15,840

(B) 74,400

p) 2,400

9,600

12,000

1,43. The three equal circles touches each other
externally. If the centres of these circles be A, B, C
thenAABCis:
(A) a right angle triangle
(B) an equilateral triangle
(Q an isosceles triangle
(D) a scalene triangle

(A) 7,200

(g 3,840

(A) 2,400

(g 4,800

L47. How much does he spend more on rent t
transport and education taken together ?

@)

(D)

CY-2013/Page24
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:oportionate
amily. If the
then answer -.U.

-_l

rch would be

is earmarked
rrt on clothes

rent than

C:

000 KG 1

0.3

Jo.s1

(A)0 F) 't

r1 vr*1qfrgu
cl errFfqrg frw

(B) ,lo.4e

(D) Js

fiz

(D) 3d

8,1

v
1{1. (A) < 14,400

(g < 2,880 (D) t 15,840

1.46. +5 5q rrfri ffi qqr +rm t Z

(A) 7,200

ol{u,'no

9&r,*o

(B) 1"4,400

@) 2,400

(B) 9,600

p) 12,000

+frtrqA+1*iqns+Bt,

rel red @) ,1 * y/zx
IT: rtl {Errt Ef, qfi W\ ql er6{ t Hei q-rA t rqR w

Tfr+*.(a,B,cddBW.qnct,

147. a5 qkf,€q efu ftrffi * nnqma qq t ffirq c{
ffiil{r 3Tfrrfi qq orar tz

',0&,noo
(g 4,800

,n
er? ,/

eFf q-qETE I1Tq

p; f+uumgfr5e

__ l,l

135. qft 2x-1 1-lx+1.:gZO fr z e1 rtFI t :

(A) 6 (B) 8 (g5

qM 30", 36', 45., 50. d I rrq; elq ffi vrl qquq Hl
Er€qlq=rsds*'drrqlqt:
(A) 30. (B) 36" (g 45" a,6) SO"

L3:. rTR sin 0:0.7,fr cos 0,0 < e < 90.,t :

(A)g
138. ufi u : +Orr alrr b : 3989d abqrrFr : ?

rt1 rcoooazo ie) 1s8ssl7s
(g "t5e8ee7e p) 15ee887e

i39. sin2 65'+ sin2 25. + cos2 35. + cos2 55.6T ql;I t :

,fr, 1
(D) ,

'i.{0. vsr$ 61 i{-ra T€-dT { \'*. rnkr H-@T q1 G t' r ss
vsrqlnrad r

8, 40, 86, 179,370,752
178 (B) 180 (g 128 (D) 1s6

qfq A {rpir *. sil?rrI ql sr5qkr 2 : 3 t' si{ BTh
sTIqRI- +1 Aqrett +r' sqlld 1 : 2 t, fr Tf,d1 tqrim
m ergwad.n 

'

.N r,u (B) 3:8 (g 4,3 (D) 3:4

3sd Td, Svqei *. qo;cF-{R u,1 etlsd eng rzad
fr r qq; TA + kT Ai t anq cLsT{ si dvo ong

t<.n.rqrqr$urtemqlqfrEnqtfanrq6rRerttqrfr rfi
qq wrfdr t r qE srfi q1 qrftrdn errq r 4s,000 t *
Iwrr44 tr+z*srrtr

't44. qRwsi qrq < 40,000/ -t-frRi sfw+wfq;a-*arq
fm-+tqgln ?

(A) 14,960 (B) 1.,360

(g 8,160 96 r,rro

145. qR lqBq qq q..1 16'7, q"rd * liTq {s f<qT qR, fr
qqd w ffi {rfu sd ql qrdl t?

lsrsil
1,5%

P:.-e) I

{q, q'rd * fmil vrrt

000 KG 1



Following histogram dePicts the
students in a class of 60 students.
answer Question No.148 to L50.

range of heights of
Study the same and

0.)

q

OJ

H

z

26

25

24

22

20

18

16

1,4

72

10

8

(,

4

2

i00 110 120 130 140 150 160 170 180 190

Height in centimeter

1.48. Number of students having height more than
150 cms :

(A) 2s (B) 8 (g 38 (D) 13

1,44. 16 children are to be divided into two groups A and
B of 10 and 6 children respectively The average
marks obtained by the children of group A is 75 and
that of all the children is 76. The:r the average marks
of the chilclren of grottp B is :

145. Find three numbers in the ratio of 1 : 2 : 3, so that thE
sum of their squares is equal to 504.

__1(4 "a
(c) ,rl

)
J

)
781

J

(B)

(D)

1,46. By selling salt at { 55.8t1 prer qurntal a clealer lost 7'){,.

At rvhat price shoulrl he have sold it to gain
^70 ')

(A) < t,1.10

(g { 6120

L47. The average tnarks of 36 siudents in section A is
86% and that of 24 students in section B is 96%.

Find the average marks of all the stutlents in
section A ancl section B together.
(A) 90'/" (B) 8t]')6 (C1 921a qD1 e1%

(A) 4,8.12
(g 7,74,21

1078 c.c

308 c.c

(A) < 12e5

(g { 1220

(B) 6,L2,L8
(D\ 8,16,24

G) t ti-i.0t)

(D) { o- lt)

rB) 1791c.c

rDt 792 c.c

(B) ? i196

(D) { 1200

149. Number of students
130 to 150 cms :

with their heights between

148. The outer ci;rcumference of a 1 cn'r tl-rick pipe is
,{4 cm. Hou, ntuch n,ater n'iil 7 r:ni of the pipe

/::
holdllTake,- -\

(A)

(q
(A) 8

150. Group which contains
students:

(A) 130-140 (B)

(q 1rl0-1s0 (D)

@) 6 (g 14 p) 22

maximum number of

149. If P+Q+R+S=5 an.1 tl'+Q) (R+S):6, then thq

numerical r,alue of P - Q - Ii. - S is :

(A)-1 (Br0 icil (D) 2

150. The compounr-l interest o1.l a cL'rtain suir for ? vears

at12% per arututn, colnpLrunr-lec-l aru'rually is{7272
The simple irrterest for that sum at the same rate and

for the same periocl u'ill L.,e :
150-160

160-1,70
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PffiHffiffi*
,ul.,s A antl
le aVerage

-- rs 75 and
:aqr'Illarks

,nl ll,,t i 
I1ot 

i

a l------ -------l
l---------------- ---f --r---'

5 r--------------,----.] I

t---- --------- - -- - --r-- r- - - -----T6!-------------------.] I I

of---:..:....r1 l. I I L-,
,l-:----:L::llfl :l'-l- 1 il ll I , l-l -100 110 120 130 110 150 io'-' 1,0 180 190

24

22

20

18

16

l

(A) 2s (B) 8

@)6

T=1 61 3[t-Uqqoqrga'-7=-==z '

-.r 130 - 1-10 -.5 -l - 1:,-1

:r44. roq.frq1m-caT: ro ett oqa)*^dR{d eaqrni
dz-{r t l qq[ A t E-dl ERi sIR 3tsil 31-*, zs t .fit
s*fr TE] * zo tr {r{a s&qq} + 3ts( ro t,

1. : 2 : 3 & ea-Evro t fir @ ga *1Feq ffi q'il
q.rfrqq;e so+*'qrrqtd,

__2
3

)
78:

J

--7
J

zsL
J

(4

(q

:\

E

I

:" ih.rt the

ii.r ltrst 7'11,.

-: 1-r) gain

(A) 4,8,1.2
(g 7,1,4,21

(B) 6,12,18
p) 8,16,24

(B) < 11e6

(D) < 1200

-a:ir)il A iS

r. B r,. L)6%.

>:u.'lents in

- t .t1%

h-... L.l'.le iS

,:: :ire pipe

: ^ :.',.'n the

_rt 2

l:-- i'r'earslFl
ri-.s<7272.
i,a:-.r f .]te and

1,47.

{ 55.80 vfr ffieo c{ Iq-m'tq er qfi qcrfr d zy"

Efr Erti d ro0 7% HIq aTf$d q-ii + tdq p5s frro
lr tq+ qFrq w ?

(A) t 6s.40 (B) < 64.00

(g < 64.20 (D) { 6s.20

t-ryn ei 366rif + silqd'3r-s 86% ? frrQ.ryrc tq
24gr* I go"/,tr twn A eft +flr{ nd frot qr
s$ 6rii + 3tsd e-s'{rd 6-t t

(A) eo% (B) 88% (g e2% @) el%

(d' 1 cm *fi cr{q 41 sr6fr c'ftlq ++ cm t t 7 cm sr{q

." r
r6-il{r q-{t {€rrl i 

ITI

(A) 1078 c.c

(Q 308 c.c

q& P+Q+R+s:5 eilr 1r+Q) (R+s):6 f,J

P+Q-R-S q-td@rrf;qet,
(4-1 (B) 0 (q1 p) 2

ffi rrfrr q{ 2 qd e fd\ 12%vfr sd ft1 <t q qrffis

E-rTf6 * wq E-*-{k q'{ < 1272* rsS rtffl t
fdq BS il t fit rS q-qftl + tdq HTIIRUI q'rs

tm'
(A) < 12e6
(q < 12.20

,q/$
/

(D) 13

@) 22

)) ..\:::ell
7)

@) 1792 c.c
p) 7e2 c.c

: (Cr 1{\)8

rt6q.rd* ffiwm

L) i(G 1* 000 KG 1



Directions : In Question nos. 151 to L55, some parts of the
sentences have errors and some are correct. Find out which
part of a sentence has an error and blacken the
oval !D] correspondingto the appropriate letter (A, B, C).
If a sentence is free from error, blacken the oval
corresponding to (D) in the Answer Sheet.

L5L. Suddenlv thev saw a car comins /
(4

at a break neck speed. /
(B)

An old man were crossing the road at the zebra
crossing. ,/ No error.

152. After tastins both / Tohn orefers /
(A)

(D)(q

(B)

tea than coffee. /No Error.
(g (D)

1-53. I sprained my ankle / when I was/
(A) (B)

playing basketball. / No error.
(c) (D)

154. I loved /the drawings/
(A) (B)

they were so real. / No error.
(g (D)

1.55. It is time /
(A)

we should accept all our people as equals/

@)

and as partners in the task of building a strong and
united nation. / No error.

(g (D)

CY-2013/Page28 OOO KG
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Directions: InQuestionnos. L56 to L60, sentences are
with blanks to be filled in with an appropriate word(s
Four alternatives are suggested for each question.
the correct alternative out of the four and indicate it
blackening the appropriate oval ItD ] in the Answer

156. Leila said the new restaurant u'as nothing to wri
about. She thought it was

(A) excellent (B) just average

(Q really terrible (D) splendid

157. My Nigerian friend, Fela is having trouble f
work here in London, but he says if push comes
shove he can alr+,avs

(A) go back to Nigeria

(B) go to jail

(Q winthelottery

(D) end of the journey that is life

158. If you say to someone "You're so full of yo
they'll probablv feel _ .

(A) proud (B) upset

(Q pleased (D) calm

159. Bob and Jane decided to tie the knot becau

(A) ithadcomeundone

(B) they loved one another

(Q they needed to save monev

(D) they wanted to make a long rope

L60. The archer missed the _ by an inch.

(A) aim (B) score

(Q point (D) blow



LJ

tv s lr,,

ences are give. !t) w'orthr'
>riate woid(s) (Q serious
estion. gftees5 ib2. OBSTREPEROUS
indicate it br (A) Sullen.{nswerSheey (e Lazy

thing to *rit, i63' EXTRICATE:
(A) pulr
(e rie

ge

Directions : In euestion nos. 161 to L63, out of the four'.ternatives, choose the_one *ht; ;;;:ro."rses the
;i:l1jffitren * orc1 

"",1,,,.k ;; ;;;; Lswer sheet

fB) charming
@) believable

B) Unruly
(D) Aw,kward

(B) Free
,D) Complicate

Directions: In euestion.nrs 164 to 155, choose the worcl
:T:1,"^i. meaning tc t:= i,.. .^,;.;;;;;ark it in the--nsrt,er Sheet.

:6]. GROUP:
ruhle finding (A) solitan j :rr.,rrrrr
u_sh comes tc (e individuat f .:.;;,..

6. ACQUTT:
(A) condemn i
(ci il;*" ; :,;:T'.

>;6. DISSENT;
(A) agreement J :jscorcl(Q disagreement I ,:racceptable

Dtections : In euestions \.- 1EI:,-. 171, iour alternatives: :. Siven for the Idiom/ ph::_- . :: .: 
= 

rrrnecr in the sentence._:,rose the alternatiV€ rr.]i1;1 3=

rr r ourseu,, t.:",fi:y"*,1i#;;f ,. _ :+:*f #* ;;makes Rita foam at t:= :_-- ::-:
(A) falt sick
(Q vomit

- :.1. The newly electe.j ::-.-j ,...-.--,- L-- _
bringaboltiirr"*.1= ,.=..;:" 

nas promised to
(A) cause to happ.:: I :: ::\(Q make : l;-"
Hegave vent to h;i :.=::._:: ..r lth a smile.(A) enjoyea r <^,-r,r(Q allor,r'ed : .,..-rr",

It because

inch.

against hartl times.

)O KG
C --'-: -r- ---I - - ':is-:

000 KG 1

Directions: ln euestion 
.nos_.172to Lg1, a sentence/ a partof th e se n te n ce is un d erlir 

",1 
B"t; ;;; it,u.Jr.,, tt".rutt u",to rtre underlined oarta,t (A), @Xei*hi:;;r, improvethe sentence. Choose th;.;;;t,;1t#;,;". rn case no:?,,#:I;:Tll*:t*;; ;;'*". ;,"iil Mark youi

772. Motor cars carrvpeople from one place to another.(A) f'orn prace toplac" 
_.--.-..-:

(B) about the place
(Q for kavel
@) Noimprovement

173. Then wiih all t
shore. 

ris loot he sailed inwards Scotland,s

(A) onwards
(e forward G) towards

@) Noimprovement
774. The teacher war

(A) expert -svervprQfiqcnt'*[':i"oi*'

(Q proficient pl N",*pl""ement
775. The office is soon to be closed.

(A) justto (B) abourto
(C) whereto @) Noimprovement

176' 
I:i"""0,%inthe
(A) wooden and broken chair
(B) broken wooclen chair(e broken and .n ooden chair
(D) Noimprovement

177. The rot-:bers fled l_.efore the police came.(A) arrivecl
(cl haclcome @) werecoming

(D) Noimprovement
778. The hosts were taken aback when many guests who*a.*,*rte!}a."1!"- ri'.. ri" o*,r.(A) had been invited (B) hr;l;;;;;(e wasinvitej 6o; rvoi_f."""rn"r,
179. Thernaster aimec.l a blon,to Oliver,s head with the

(A) a throw at
(Q a blon, at

a punch in(B)

(D)(D) Noimprovement
180. 

ilr;." are being

@) The prize winning athletes
(B) The athletes *ho lre girr";p.ir",(Q ffre athletes whn ,,o ",'.*,I_ -'.
(D) No imp."":'#l: 

are winning prizes

181. Can you please give me some leave Z(A) grantforme (B) grantme(Q grantfromme (D) ft"rd.or"nr",l,



Directions : L:r Question nos. 182 to 188, out of the four
alternatives, choose the one which can be substituted for
the given words/sentences and indicate it by blackening
the appropriate oval IO ] in the Answer Sheet.

182. A word that reads the same backwards as
forwards:

/,A.) palindrome

(Q homophone

*83. A principle or standard by which anything is or
canbe judged:

(A) criterion

(Q copyright

784. A person who is self-centred :

(A) eccentric

(Q masochist

(B) acrostic

(D) acronym

manifesto

epitome

(B) egoist

(D) narclssist

(B) fusillade

(D) attack

(B)

(D)

\d5. The firing of many guns at the same time to mark an
occasion :

(A) volley

(Q salvo

186" Onelivingonvegetables:

(A) barbarian (B) vegetarian

camivore(Q herbivore (D)

187. A person who supports or speaks in favour of
something:

(A) volunteer (B) advocate

(Q assistance (D) adviser

188. An extract from a book of writing :

(A) Preface

(9 Reviev,,

CY-2013/Page30

'p) Excerpt

(D) Footnote

19Directions : In Question nos. 189 and 190, four n-or; = -e
given in each question, out of which only one i.,---:: is
correctly spelt. Find the correctly spelt word and ma;,. . -- .:r
answer in the Answer Sheet.

180. (A) Posessian

(B) Possession

(Q Possesian

@) Posseseon

\1m. (4

(B)

(q

0))

Imakulate

Immakulate

Immaculate

Immaculete

Directions:lnQuestionnos.L91to200,\-.-' :: : : . ::^ef
passages with 5 questions following e:--: :::-:= i=ad
the passages carefulli' and choose the :::: 1--.-.. t: : I ::.h
question out of the four alternat:'.'.s and mark :: br-
blackening the appropriate oval IrD 

- ; the Alsrr-er Sheei.

' Passage - I (Q. \o. 191-195)

We are living in the -\ge .-j i-ience. Even'dav new

inventions are being n',a.'1e ic: =: :--rC of h';:-::::-,'. The

scierrtific inventions b.S- r1=-- ---= -:; -:-rf::_ i. ='. -^.:::ion

of 1789. Within these l- - -.=::, >: .::= --.. ::ie a

r.r,onelerful progress. The ae:::-,--: -: --: -: -_: 
=ost

important inventions of scienc= ::--= -i =r ..:.- -.::. It

is the fastestmeans of transport r :',1: i- ::- --- .--:' :.:ne

resembles a flying bird in shapre -:'-.-'= --:,=*= :--: - t--: ior

thepassengersandacabinfortheFi'--: I---. :=:- -. :.- ed

acockpit.Ithasanenginethatisrr'.-::=: : :'.: .: -sall

made up of metal and can flv at a \'€:-.' :-J :-,::: :<i.-rre

taking off it runs on the runway f or 1-:'.- j-.-:-,: : :, ::,.her

speed. Then it suddenly hops up the ei:--: - - --. =: ,-ff.

191. An aeroplane has an engine t:a: .: -... -:r.=i by

(A) gas

(Q petrol

(B) diesel

(D) steam

^19:

1+l
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L92. We are living in the _ .

(A) Age of science

(B) Age of inventions

(9 Ag" of industrialization

(D) ModemAge

193. The 

-- 

is one of the most important
inventions of science during the Modem Age.

(A1 train (B) ship

(C1 aeroplane (D) motorvehicle

19{. The scientific invention began after the Industrial
Revtrlution of _ .

. (A) 777e (B) 1.78e

(g 188e @) 1.87e

195. The cabin for the pilot is called a

(A) chamber (B) cubicle

(Q cube (D) cockpit

Passage - II (Q: No. 195 - 200)

l:= ),.::rt rral Highways Network of India measures

Lr\'tr: '-! rr' ,:s,,f 1010, inclucling over 1,000 km of

limrt+;-::;=:i :\.::qsli\'avs. Out of 71.,00Okm of National

Highrr'avs - l .. , :;us \nt are J or 6 lanes antl remaining

50,000 km are I .:::ts The \ational Highr.r'avs Authority

of India (NHAIr is t..e nodal agency responsible for

building, upgrading a:'r,i maintaining n-rostof the national

highways netwo.k. the \arional Highn'avs Development

' Proiect (NHDP) is a major effort to expand and upgrade

' the netu,ork of highways. NHAI often uses a public-private

pa-rtr,.ership model for highway development, maintenance

I ar,i tc]l-c..llection. National highr,r,avs constitutecl about

l', ci a* :te r,rads in h-rclia, but carried about 40% of the

total rura.i [a::i: a_. ..i ]tt10. The majoritr- of existing national
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highways are two-lane roads (one lane in each direction),

though much of this is being expanded to four-lanes, and

some to six or eight lanes. Some sections of the network are

toll roads. Over 30,000 km of new highways are planned

or under construction as part of the NHDP, as of 2011.

This includes over2,600 km of expressways currently uncler r

construction.

196. What is the current measurement of expressways
under construction in India ?

(A) 1,000 km (B) 15,000 km

(C) 30,000 km (D) 2,600 km

197. What is the measurement of two-lane National
Highways of India ?

(A) 71,000 km (B) 15,000 km

(Q 61,000 km (D) 50,000 km

L98. The majority of National Highways in India have :

(A) four-lanes (B) two-lanes

(Q sixJanes (D) eight-lanes

199. What percentage of roads in India are National
Highways ?

(A) 40%

f* (g 30%

(B) 2%

Q) 4%

?00. What is the respohsibility of the NHAI ?

(A) expansion of National Highways

(B) planning of National Highways

(Q buikJing, upgrading and maintaining of
National Highways

(D) control of National Highways

-o0o-
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